
 
 
 

 
 
SPECIFICATION SHEET RSS119 
VEHICLE BRAND TOYOTA 
VEHICLE TYPE TARAGO 
YEAR MODEL 07/00 ON 
LOAD RATING 50 KG 

 
 
SPECIAL FITTING TIPS 
 
Open both sliding doors and remove grey plastic bungs, you will find 
these located in side turret of the sliding doors. Place rubber pads onto 
roof(these are clearly marked left and right)fit clamps onto vehicle with 
M6 x 16 bolts making sure they locate with the rubber pads. Take  cross 
bars and fit onto rubber pads, once this is completed you can now install 
M6 x 32 bolts and tighten. Please note there is a front and rear cross bar. 
 
 
 
SPECIFICATIONS:  
 
Front Bar – 91.5` 
 
Rear Bar – 88.5 
 
Manufactured By Rhino-
Rack 
3 Pike St Rydalmere,  
NSW 2116, Australia 
(Ph) 02 9638 4744  
(Fax) 02 9638 4822   
 


	SPECIFICATION SHEET RSS119
	VEHICLE BRAND
	TOYOTA
	TARAGO
	LOAD RATING
	SPECIAL FITTING TIPS
	Open both sliding doors and remove grey plastic bungs, you will find these located in side turret of the sliding doors. Place rubber pads onto roof(these are clearly marked left and right)fit clamps onto vehicle with M6 x 16 bolts making sure they locate with the rubber pads. Take  cross bars and fit onto rubber pads, once this is completed you can now install M6 x 32 bolts and tighten. Please note there is a front and rear cross bar.



	SPECIFICATIONS: 
	Front Bar – 91.5`


